RPC Readout Plane A
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Card 1: 8-16 leave first 7 blank

Card 2: 17-25 leave last 7 blank
Card 3: 35-48 leave first 2 blank
Card 4: 49-63 leave last 1 blank

N Total of 47 cables
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RPC Readout Plane B
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Card 1: 6-16 leave first 5 blank

Card 2: 17-26 leave last 6 blank
Card 3: 34-48 leave first 1 blank
Card 4: 49-63 leave last 1 blank

Total of 51 cables



RPC Readout Plane C
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Card 1: 5-16 leave first 4 blank
Card 2: 17-27 leave last 5 blank
Card 3: 35-48 leave first 2 blank
Card 4: 49-63 leave last 1 blank
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